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bbox <- st_bbox(study_area)

win <- owin(
xrange = c(as.numeric(bbox["xmin"]), as.numeric(bbox["xmax"])),
yrange = c(as.numeric(bbox["ymin"]), as.numeric(bbox["ymax"]))

)

fastfood_coords <- st_coordinates (fastfood)
fastfood_ppp <- ppp(x = fastfood_coords[,1], y = fastfood_coords[,2], window = win)

plot (win)
plot(fastfood_ppp, add = TRUE, col = "[@&", pch = 16)

L_ff <- Lest(fastfood_ppp, correction = "Ripley", r = seq(0, 3000, 100))

envelope_L <- envelope(ppp_fastfood, Lest, nsim = 99, correction = "Ripley"”, r = seq(0,
3000, 100))

plot(envelope_L, main = "L(d) EE Monte carlo EBERE")

schoolsSTYPE <- ifelse(grepl("A 11", schoolsINAME), "public", "private")
schools_public <- schools %=% filter(TYPE == "public")
schools_private <- schools %>% filter(TYPE == "private™)

ppp_public <- get_ppp(schools_public, win)
ppp_private <- get_ppp(schools_private, win)

F_public <- Fest(ppp_public, ppp_fastfood, r = seq(0, 3000, 100))
F_private <- Fest(ppp_private, ppp_fastfood, r = seq(0, 3000, 100))

p]ot(F_pubthr‘ F_publicfest, type = "1", col = , ylim = c(0, 1),
xlab = "EEE(m)", ylab = "F(d)", mawn = "2}_"1 Vs ? TEF F(A™)
Tines (F_privateSr, F_privatefest, col = '"[{34 )
Tegend ("bottomright", legend = c(" /\jéﬁ , "ThIIE &™), col = c("§ , "B, Tty = 1)
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